2016 (A) Ay

4 SSC PART-l (9th CLASS) .
GENERAL MATHEMATICS GROUP-| ¢ -/ L7
TIME ALLOWED: 2.10 Hours SUBJECTIVE ¥ g0 = &
MAXIMUM MARKS: 60 60 = AF
NOTE: - Write same question number b grlad (-,»/,",?.»!/:U!r&;&bi}lﬁ oy

and its part number on answer book, as given in the question paper.
SECTION-l .

2. Attempt any six parts. 12=2x6 é//‘uwﬁl]l;cd! 240
(i Define Antecedent éJ/JwJJ o)
(i} 140 books are increased in the ratio of 5 - 4. ?Jng’»‘io{.}/ Q{,G&IFLI;'I_;’JW’._/ 40 LerS 5:4 il
What would be the number of increased books?
(i) Find the ratio of 8 rupees each to 72 rupees per dozen. Sl y /:Jé_s/ 72 e 8 # (i}
(v)  Define "Nisab" LA L W
(v} Calculate the amount of Zakat on an amount of Rs 500000, iy ,Jz_» 500000 (v)
(v)  Find CPwhen SP = Rs 672 and Profitis 5% . 5% Coaen 672 = ..»:/Jyér:"'u.,t’ (vi)
(vii)  Define Discount Lafled (i)

/6% LA T8 = Atk .sé.»,hu,/_,g (v
(viii)  Find the selling price when MP = RS.728 and discount is 5%

(i)  Define Commercial Banking. L /‘J.Ec:f 7 W
3. Attempt any six parts., 12=2x6 Efennlimge & 34y
(i) Whatis meant by Cheque? % /Ifc...p (i)
(i) Define Tax. ;{._u/'a ¥ (ii)
(i) If the annual income of a flat is & > Jﬂ,ue:_z, s 15 1, 600000 da I.ch_J.ff/' (i)
Rs.600000. Then find the tax payable at the rate of 15%. . L
(iv)  Write 0.051 in Scientific Notation. EdidA 0ot ()
(v}  Solve, log8! log81 L£f ()
log9 log¥
(vi)  If logx =0.5019 then find the value of x .g:',z,lv;fj x Jn logx=05019 /i (vi)
(vi))  White the first three terms of a, = r + 3 i H o =ne3 ()
(vii) ~ Define the Arithmetic Mean, LA (i)
()  Find the GM between 3 and 27, S fdesl 2143 (i)
4. Attempt any six parts. 12=2x6 éfi.,wéwcdf -4/Jw
e ans {13579} 4 A={23572u 0 @
()  Find 4NB, f 4={2,35711} and B={1,3579}

L bndnl R={(4,4),(55), (6,6) } k¥ (@
(i) Find Domain and Range of Binary Relation & = {(4,4), (5,5), (6.6) }
( é! J)’ )
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SSC PART- (9th CLASS) . :

GENERAL MATHEMATICS GROUP-I b - oof Py
TIME ALLOWED: 2.10 Hours SUBJECTIVE (Gl 210 =
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number -g.(-,»@;.g.}irfzé 6»/%2/!’/’.0'%}4&((}’3 sa3d

and its part number on answer book, as given in the question paper.
SECTION- (JiL.2

2. Attempt any six parts. 12=2x6 -é_xf.:,glzllzlqc.éf 274
()  Express % in percentage. Edsp Ll % (i)
(i)  Define Compound Proportion. . LIt i)
(ii)  1f45 % students in a school are girls. L dEL It as % LJELA i
What will be the percentage of boys?
iv)  Define Inheritance. o EAs ()
(v)  Calculate amount of Zakat on an amount of Rs.5,00,000. LTy 500000 (v)
(i)  Wnatis meant by Discount? ) eilesd ()
(vi)  Find CP, when SP = Rs.672, Profit=5 % 5% =0 @ubT2=chicd LEpuied (i)

N 5% = oo v 2760 scdrtlalg Pehjed (i)
(vili)  Find the selling price, when MP = 2760, Discount=5 %

(ix)  Whatis meant by Cheque? eife s (¥
3. Attempt any six parts. 12=22x6 Eiferlinga 8 340y
() Whatis meant by Maturity? *:;.,ygc.&{ (i
(i) Whatis meant by Tax? tealple (i)

(ii)  Acomputer's price is Rs 34800 SIS .q.M;? 16 % (R0 ¢ ¢ v 34800 2 SAL (i)
inclusive of 16 % sales tax. What is the original price of the computer?

(v) Define Characteristic. Uil W
{v) Solve log,(x-2)=1 _s{jf log(x-2)=1 (v
(i) If logx = 0.1597 thenfind x = ? Gl x T logx=01597  (vi)
(vii) Find first three terms of @, = (=1)" o’ -:é(?’,'i'/.-f&;fwix a,=(-1ynf (vii)

Edf n may=a+(n-1)d 5 a,=400, a=10, d=5 S i

(vil) Findthevalueof 7 if a, =400, a=10, d=5 and a,=a+(n-1)d

()  Define Geometric Mean. gl
4. Attempt any six parts. 12=2x6 -g,{.//:.pzf.lzlgc_ﬁf A4 )y

Lo me={3457} 44={1478} /1
i) K A={1,4,78} and C={3,4,57} thenfind ANC=? o
L xxy my={def}sx={189}/ (i

i) WX={7.89}and Y={de f}thenfind Xxxv
(d“jl’)
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NUIQBER' 5267 SSC PART- (9th CLASS)

GENERAL MATHEMATICS GROUP- v -] Py
TIME ALLOWED: 20 Minutes OBJECTIVE u"s/w 20 = 2
MAXIMUM MARKS: 15 15= AF

Ao oF L SN s 5 oSl l!./»c_gﬂu;/l:é‘:{..\c_L«L.JV//Q(QU’ ..u'éﬁg_.l D, CBA -tli..’ﬁbﬁdlrf oy
-fa.lg!;df/u):}:._; ./:; Bubbles -(r/:"w.r'?u):igcvnﬂft.& o'y ¢ b—/d’uubny;.-{‘ -
Note: You have four choices for each objective type question as A, B, C and D. -u_‘xf:d’?}.:. Vg 2r iy
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fili the circles. Cutting or filling two or more circles will result in zero mark In that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 ALy
(1) Zakat s deducted at the rate of - B % 7 S 167 S )
(A) 3.5% (B) 2.5% (C) 45 % (D)55% .
(2) Profit is eamed if - (A)SP=CP assjnd = 472t -:/n.;.,.-t,z_/v‘ud" )
(B)SP<CP =dyied < 4/ed (C)SP>CP ohjed > 4fed (D)SP S CP ohyjed s 4ied

(3) The return eamed by the bank on loan is named as:- -c.olk‘ cr/ﬂﬂ; fu’/:_:u’} (3)
(A) Bonus 4 (B)Markup oASb  CYC)Premium £, (D)Proft S

(4) The amount which is paid by the bank on the deposits s Called:- & thiba k3G )
(A) Bonus /¥ (8) Premium (% (C)Markup 'S\ (D) Profi Bo

(5) The taxin additon tothe price of the artice s called- G fegdlad
(A) Tax (B) Sales tax Sx (C) Property tax’ fdxu (D) Income tax f

() The tax charged on the owner of a land, house, .r.ﬂlw( n&&'b{fﬂc.ﬁtﬁwmvs S gt 6

fiat or building is called:-
(A) Property tax v; d/f/ (B) Income tax ./C ﬁ (C) Direct tax Jg =z (D) Indirect tax u’ gl

(7) In 3 , 3iscalled- -c,-ﬂb'(3 cv3 0
(A) Radical i (B)Radicand ¥ (C)integer 1+ (D) Natural number s(li3

(8) Nexttermof 12, 16, 21, 27 willbe- (A) 30 (B) 31 (C) 32 (D} 34 Jnhfu: 12, 16, 21, 27 (8)

(9) GM.between —3 and -12 is-  (A)£9 (B) 3 (C)%6 (D)£36 -chalisknl -12 4 =3 (9)

(10) f U=1{1,2,3,4 }and A= {4 }then 4" =? L=rka={a} s v={1,23,4} S (10
(Af1L23} (B) ¢ © {1} o) {1.2.3,4}

(11) Coordinates of origin are:- Alnehel by (M)
(A} (L 1) (8)(0,1) (C)(0,0) (D) (10)

{12) The middle values of data arranged in numerical order is called:- .c.dlk{.../duu" ublr ;‘U’( (12)
(A) Median - (B) Mode wsk (C) Mean L (D) Weighted mean ALY

(13) 20 % of 600 is:- < 20% ¢ 600 (13)
(A) 120 (B) 20 (C) 12 (D) 200

(14) .;. in terms of percentage is:- .g_.;.’f&id% (14)
(A) 33 % (B) 1% © 33% % (D) 3%

(15) The share of a widow (in the presence of offspring) is:- < (L sz ) »J,lg@(ﬁ,,(.g (15)

I 1 I 1

(A) 5 B 3 ©3 0 3

33(0bj)( ¢ I I 37 )-2016(A)-23000 . (MULTAN)
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NUMBER' 5264 SSC PART-I (9th CLASS)

GENERAL MATHEMATICS GROUP-II b < .’.;); U'.’L/J 7.
TIME ALLOWED: 20 Minutes OBJECTIVE u%/w o220 =
MAXIMUM MARKS: 15 15= AF

S B A f./u.ijé..u./»;.;u,/uéa.mv JV//Q(Q'? s "2:@: D C:B-A ..,Ui.ﬁa&&;]'r/ ey
%4 .b'c_bu.,d’/jfj..nﬂfg.f 24 Bubbles -fm#’w_,limfzd..«a‘&_z4 Sk 4 Lf‘[u:/bulac_.i' R

Note: You have four choices for each objective type question as A, B, C and D. ..,{/ J');-.. Wy z4-dlr

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) AM between 3 and 343 is- <L 33 a3 (1)
(A) 243 (B) 543 (C) 93 D) 443

(2) Foranytwosets A and B , AUB=BUAiscaled- <t AUB=BUALL B 4 Aty ()
(A) Commutative property A=zt (B) Associative property il
(C) De Morgan's law uiwdfud j (D) Complement of two seis .vd/b’uﬁ;

(3) Fry=21in 2x—y=6 wehave x =? x=?cd, y=2 L 2x-y=6 (3)
(A) -2 (B) 2 {C) -4 (D) 4

{4) The score which occurs most often in a set of data is called'- -r.d!l« e '.n/nm:. ,/J;'nf;’.t’n (4)
(A) Mode »e (B) Mean & (C) Median k- (D) Geometric Mean bI(} ~

(5) Fraction form of 70 % is:- ; " <S4 0% 5
(A) 7 (8) 10 (C) 7 (D) 70

(6) % in terms of percentage is:- -q.u'!f&#i % (6)
(A) 3% (8) 1% (C) 33% (D) 33-; %

(7) Zakatis deducted at the rate of-- P N
(A) 25% (B} 3.5% (C) 45% (D) 55% .

(8) Ushron a wheat crop produoed on natural resources -.4{3;{\}//"{&'.» 1,50,000 &LJ‘_’J{»"&{{ lscéuicbf: (8)

having amount of Rs.1,50,000/- is- (A)Rs.10,000  (B)Rs.5000  (C)Rs.15000 (D) Rs.20000
(9) Loss is there when:- (A) SP=CP wijed = 4icd Jetrgld  (9)
(B)SP > CP =dy)=d > 472d (C)SP < CP wirjed <uied (D)SP=MP oiijed = odbges

(10) The percentage of profit/markup charged is called:- - )’b/\i(JJAJ,.IJ l/dt'f (10)
(A) Rate <. (B) Time fr (C) Interest »» (D) Principal /i‘}“

{11) Amachine installed by the bank to dispense cash to customer is called:- ..;.Jfb!f.‘f b'ﬁﬁzu? YLz (1)
(A)Computer Jx{  (B)Scanner £ (C)ATM Aijet (D) Card reader .4, 4§

(12) The tax in addition to the price of the article is called: - -;f;(/f duilted S go’ (12)
(A) Tax y (B) Sales tax fk (C) Income tax f(f (D) Exise duty dmu’ [

(13) The tax charged on all the taxable income is called - -grw cé.t'bl.ﬁ/d& l.}( JG(W (13)
(A) Sales tax 5.4 {B) Direct tax ..m;',c (C) Income tax u‘g f (D) Excise duty dh/u'l

(14) In 3 , 3is called:- BE 3Ll (19
(A) Radical /i (B)Radicand s (C) Exponent Ve (D) Base i/

(15) Thirdtemof a, =n+3 js- _.;_(,J/J a,=n+3 (15
(A) 3 (B)& (C)9 (D)0

35(0bj)( ¥ I7)-2016(A)-20000  (MULTAN)
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